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0.2000 11.000 3.602 2.624 2.259 2124 2.069 20589
0.8246% - — - — — — __2.000_
0.3852* — _ — _ — 2.000 —
0.4720% — _ _ _. 2.000 — —
0.5000 5.000 2,736 2919 2.053 1.98% 1.962 1.950
0.6054% —_ - _ 2000 - — —
0.8284* — —_ 2,000 - — — —
1.0000 3.000 2.157 T 1842 1824 1.824 1.881
1.2362¢ — 2.600 — - — — -
1.5000 2.338 1.8G8 17531 1.702 1.706 1.721 1.739
2.0000* 2.000 1,694 1.600 1.602 1.618 1.641 1.665
2.5000 1.800 1.579 1.522 1.526 1.549 1.577 1604
8.0000 1.e67 1.496 1457 1.468 1.494 1.524 1.5 4y
3.5000 1.571 1.434 1.406 1421 1449 1481 1.511
4.0000 1.500 1.586 1.366 1.388 1.412 l4dq 1.474
4.5000 1444 1.847 1.882 1.351 1.280 1412 1.445
5.0000 1.400 1.316 1.304 1.324 1.358 1.385 1416
6.0000 1.383 1.267 1.861 1.281 1.809 1539 1.369
7.0000 1.285 1.981 1.229 1.248 1.275 1.504 1832
8.0000 1.250 1.204 1.208 1.222 1.247 1275 1.302
9.0000 1.222 1.183 1.183 1.201 1.225 1251 1.977
10.0000 1.200 1.165 1166 1188 1,206 1231 1.256 .
12.0000 1.167 1.189 1.140 1.156 1177 1.199 1.222
14.0000 1.148 1.120 1122 1.136 1.155 1175 1.196
16.0000 1125 1105 1.108 1.121 1.187 1.160 1175
18.0000 1.111 1.094 1.096 1.108 1.124 1.141 . 1158
90.0000 1.100 1.085 1.087 1.098 1,112 1128 1.145
22,5000 1.089 1.075 1078 1.088 1101 1115 1.180
25.0090 1.080 1.008 1.070 1.079 - 1.002 1.105 1118
27.5000 1.078 1.062 1.064 1.078 1.084 1.096 1.109
50.0000 1.067 1.057 1.059 1.067 1.077 1.089 1.101
85.0000 1.067 1.049 1.051 1.058 1.067 Lo77 1087
40.0000 1.050 1.043 1.045 1.051 1.059 1.068 1.077
45,0000 1.044 1.038 1040 1045 1.052 1.061 1.069
50.0000 1.040 1.034 1.036 1.041 1.048 1.055 1.088
£0.0000 1.083 1.099 1.080 1.084 1.040 1.046 1.053
70.6000 1.088 1,025 1.096 1.029 1.034 1.040 1.048
80.0000 1.025 1.022 1.023 1.026 1.030 1.035 1.040
90.0000 1.022 1.019 1.020 1.028 L.027 1.081 1.036
100.0C00 1.020 1.017 1.018 1.021 1024 1028 1.082
120.0000 1.017 1044 1.015 1.017 1.020 1.024 Loz7
40,0000 1.014 1.012 1.013 1.015 1017 1.020 1.023
160.0000 1.013 1.011 1012 1.013 1.015 1.018 1.020
180.0000 1.011 1.010 1.010 1011 1.014 1.014 1.018
200.0000 1.010 1.009 1.009 1.010 Loi2 1,014 1616
225.0000 1.089 1.£08 1.008 1.010 1001 1.013 1015
250.0000 1.008 1.007 1.007 1.008 1.010 1011 1.013
300.0000 1.007, 1.006 1.006 1007 1008 1010 1.010
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®3 COMIENRT3LDME

1 38 H
= (_5112/3 . _Al) “(@n R

¢ o fi1 1:0 1:05 1:1 1:15 1:2 1:25 1:8
40,2000 2.330 1.561 1177 - 1.002 0.598 0826 0.773
0 3246% — — — e — — 0.758

0.3852% — — —_ _ — 0.799 —

0.4720% — _ — — 0.847 - —
'0.5000 1.039 1.286 1048 0.928 0.842 0.784 0.739

0.6054* — - — 0.900 — - -

0.8254* — _ 0.948 - . - —
1.0000 1.316 1.041 0807 0.826 0.770 0.727 0.694

1.2362% - 0.9%7 — - — — —
1.5000 - 1062 “oso1 0.814 0.757 0.714 0651 0.653
2.0000% 0917 0.809 0.746 0.703 0.671 0.0:44 0.621
25000 0.821 0.742 0.694 0.661 0.685 0618 0.594
3.0000 0.755 0.691. 0.658 0.626 0.605 0.586 0.570
8.5000 0.7C0 0,651 0.620 0,597 0.570 0.563 0.550
40000 0.658 0617 0.591 0.572 0.557 0.543 0.531
4.5000 0.624 0.589 0.567 0.551 0.537 0.625 0.515
5.0000 0,595 0.565 0.546 0.382 0.520 0,510 0,500
6.0000 0.549 0.526 0.508 0.500 0490 0.452 0.475
7.0060 0.518 0.495 0483 0.474 0466 | 0460 0.453
8.0000 0485 0.470 0.459 0.451 0446 | 0440 0.435
9.0000° 0461 0.448 *0.440 0433 0478 0428 0.419
10.0000 0.441 0.430 0.423 0.417 0413 0409 0.405
12,0600 0.409 0,401 0.395 . 0.391 0.387 ‘ 0.384 0.381.
14.0000 0.584 0.377 0.873 0.369 0366 | 0364 0.361

15.0000 — - 0.363 0.360 0.358 — —
16.0000 0.364 0.358 0.355 0.352 0.349 0.847 0.345
18,0000 0.347 0.342 0.359 0.357 0.585 0333 0.331
20,0000 0.338 0.39 0.326 0.324 os2 | 0321 0.319
22,5000 0.318_ 0.314 0.312 0.310 0809 | 0307 0.306
25.0000 0.805 0.302 0.300 0.298 0.297 0.296 0.295
97,5000 0,294 0.291 0.289 0.288 0.287 0.236 0285
20,0000 0.284 0.281 0.280. 0.279 0.278 0.277 0.276
35.0000 0.967 0.265 0.264 0.263 0.262 0.261 0.261
40,0000 0.254 0.252 0.251 0.250 0.250 0.249 0.249
45.0000 0.243 0,241 . 0.240 0.240 0.289 0.239 0238
50.0000 0.283 0.232 0.231 0.230 0.290 0.229 0.299
£0.0000 0.217 0.216 0.218 0.215 0215 0.215 0814
70.0000 0.205 0.204 0,203 0.203 0.20% 0.203 0.202
$0.0000 0,195 0.194 0.194 0,193, 0.193 0193 0.193
90.0000 0.186 0.185 0.185 0.185 0,185 0.185 0.184
100.0000 0.179 0178 0.178 0.178 0.178 0.177 0.177
120 0000 0.167 0166 0.166 0.166 0.166 0.166 0.166
140.0000 0.157 0.157 0.157 0.157 0.157 0.156 0.156
160.0000 0.150 0.149 0,149 0.149 0.149 0.149 0.149
180.0000 0.143 0.143 0.143 0,143 0,148 0.142 0.142
200.00C0 0.137 0.137 0.137 0.187 0,197 0187 0.137
225,0000 0.131 0,181 0.181 0131 0.131 0.131 0131
250.0000 0.126 - 0126 0.126 0.126 0.126 0.126 0.126
300.0000 0.118 0.118 0118 0.118 0.118 0.118 0.118

* MR under line & 3 4 DG HHEIER S o,
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